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QUESTION 1

Your customer wants to direct attach an AlX server to a Fibre Channel port on a VSP G400. What should be set?
A. host name

B. pott defined as External

C. Host Mode Option (HMO)

D. System Option Mode (SOM)

Correct Answer: D

QUESTION 2

Which component in the VSP Gx00 series provides the CFM and the cache with power In case of power outage?
A. Backup Module

B. Battery Module

C. Cache Module

D. Power Module

Correct Answer: B

QUESTION 3

From which two locations can the Maintenance Utility be Invoked on a VSP G800? (Choose two.)
A. the SVP Web Console

B. Hitachi Command Suite (HCS)

C. Hitachi Infrastructure Director (HID)

D. MPC connected to the Maintenance LAN port on the array

Correct Answer: BD

QUESTION 4
What are two supported back-end transfer speeds on the VSP Gx00 series? (Choose two.) Choose 2 answers
A. 4 Gb/S

B. 6 Gb/s
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C.8Gb/s

D. 12 Gb/s

Correct Answer: BD

QUESTION 5

A customer wants to change a production RAID group from RAID 5 (7D+1P) to RAID 6 (6D+2P) on a VSP
G600 during normal operations. They have just unmapped the LUNs from the channel ports.

What needs to be performed next?

A. Parity groups must be deleted.

B. The RAID level must be changed in Storage Navigator.

C. The RAID level in the SVP Maintenance window must be changed.

D. The RAID 5 group must be put into DRU mode in Storage Navigator.

Correct Answer: A
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